gogooggo

Zo_025=1.96, Zo_05=1.645,
tolo5(47):1.687, t0_025(47)=2.011,
I:(0.05,2,6)=5-:|-4, F(O.05,6,2)=19-331 I:(0.05, 2,47)=3-95,

(15 ) F t
!20 ! 5 15 2’ 3! 4’ 5
4 X1, X2, X3, Xg

X:(Xl Xo X3 X4)/4

1) x
(2) E(X)
(3) V(X) ,
(4) (O%) ©)
(20 )
12
( ) 5%
6 7 8
8 7 9




(30 )

P=a +3 M+ N+e

P ( )M ) N ( )
Exce
T P-
-483.76 151.03 -3.21 0.0025
37.59 3.77 9.96 5.77E-13
177.61 83.68 2.12 0.0393
R 0.9002
R 0.8104
R 0.8019
274.7726
48
ANOVA:
SS MS F
2 14519620 (7259810 [96.156
45 3397500 |75499.99
47 17917119
(1)
(2)
(3 a=0.05 35
(4) a=0.05

()

30




15 )

In the following multiple choice questions, circle the correct

answer.

(1). A continuous probability distribution that is useful in describing

®oo T

the time, or space, between occurrences of an event isa(n)

normal probability distribution
uniform probability distribution
exponentia probability distribution
Poisson probability distribution
None of the above answersis correct

(2.) Asthe sample size becomes large, the sampling distribution of the

PO oW

sample mean approaches a

binomial distribution

Poisson distribution

hypergeometric distribution
chi-square distribution

None of the above answersis correct

(3.) Larger values of r* imply that the observations are more closely

Do T

grouped about the

average value of the independent variables
average value of the dependent variables
least squaresline

origin

None of the above answersis correct



